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Definition of terms: 

Dividend: The number being divided 
Divisor:  The number that will divide the dividend 
Quotient:  The result of the division (the answer) 

Example: 

In the expression: 6 ÷ 2 = 3; the dividend is 6, the divisor is 2 and the 
quotient is 3. 
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Divisor = 4

3 full rows of 4

Dividend = 13
Remainder = 1

Divisor = 4

3 full rows of 4

Dividend = 13
Remainder = 1
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Difference = 7
(Answer)

Minuend  = 15

Subtrahend = 8

15 – 8 = 7

Difference = 7
(Answer)

Minuend  = 15

Subtrahend = 8

15 – 8 = 7
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Definition of terms: 

Minuend: The number from which another number is subtracted 
Subtrahend: The number subtracted from another number 
Difference:  The result of the numbers subtracted (the answer) 

Example: 

In the expression: 6 - 2 = 4; the minuend is 6, the subtrahend is 2 and the 
difference is 4. 
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Difference = -3
(Answer)

Minuend  = 5

Subtrahend = 8
5 – 8 = -3

Difference = -3
(Answer)

Minuend  = 5

Subtrahend = 8
5 – 8 = -3
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Definition of terms: 

Addend: A number being added 
Sum:  The result of the numbers being added (the answer) 

Example: 

In the expression: 6 + 2 = 8; the addends are 6 & 2, and the sum is 8. 
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36 + 7 = 4336 + 7 = 43
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Multiplier = 4

Multiplicand  = 6

4 X 6 = 24

Multiplier = 4

Multiplicand  = 6

4 X 6 = 24
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Definition of terms: 

Multiplier: A number being that multiplied by another (the multiplicand) 
Multiplicand: A number being that multiplied by another (the multiplier) 
Product:  The result of the numbers being multiplied (the answer) 

Example: 

In the expression: 6 X 2 = 12; the multiplier is 6, the multiplicand is 2, and 
the product is 12. 
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